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Hl& 7 (BG3) 2,895,603
Pl 77 16 (BG4) 4,163,986
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HEFHE204,000,000

HEFHEE90,000,000
EHEFHEE22,000,000
EHETAE194,000,000
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5,138,646
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Gb1=GB*S2
Gb2=GB*S2
Gb3=GB*S2
Gb4=GB*S2
Gb5=GB*S2

Gc1=GC*S3
Gc2=GC*S3
Gc3=GC*S3
Gc4=GC*S3
GehH=GC*S3

Gd1=GD*S4
Gd2=GD*S4
Gd3=GD*S4
Gd4=GD*S4
Gd5=GD*S4

Gel=GE*S5
Ge2=GE*SH
Ge3=GE*SH
Ge4=GE*SH
Ge5=GE*SH

Gf1=(GF — X Ai6)*S6
Gf2=(GF — X Ai6)*S6
Gf3=(GF — X Ai6)*S6
Gf4=(GF — X Ai6)*S6
Gf5=(GF — X Ai6)*S6
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JElE 5T 125,855,517
HRlE 7 & 152,605,697
3| 111,374,505
=T 123,340,417
/NG 767,734,698
=ninva 159,897,464
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=nlnal 85,791,990
JEE ST 33,602,862
& 57 80,765,985
A 5 57 I 45,005,789
ST 50,115,950
/NG 295,282,576
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JEE ST 35,601,334
Hh o7 I 79,432,194
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ST 49,660,920
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=nlnal 9,629,643
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T 4 9,065,492
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Ga3+Gb3+Ge3+Gd3+Ge3+GP3 1,535,921,140
Gad+Gb4+Gcd+Gd4+Ged+Gi4 881,910,978
Ga5+Gb5+Ge5+Gd5+GedS+GE5 980,385,092
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